Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 22/02/2024
Exam Time 11:30 AM - 12:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1 six colleagues Peter, Quin, Rachel, Sam, Tina. and Ulysses are sitting in a circle facing away from the center. Peter is
sitting to the immediate right of Quin. Tina is not sitting next to Peter. Sam, who is sitting to the immediate left of Quin,
is also sitting to the immediate right of Ulysses. Who is sitting to the immediate right of Tina?

Ans 1. Q’I]L[I.[l
« 2. Ulysses
3. Rachel
4. Peter
Q.2

Ans 1. 1,2,3,54
2. 3.2.1.54
31,2345

4 32,145

Q3

Ans o 1.
2. Sister
3.

4.




Q.4

Ans 1. 128
2. 124
3. 118
4. 132

Q.5

Ans 1.

« 2. Weither conclusion I nor II follows

Q.6

Ans 1. 46
2. 48

4. 50

Q.7

Ans 1. % and =

3. ¥ and +

4. +and +




Q.8

Ans
o 1.
2.
3.
4.
Q.9
Ans 1. 75
2. 88
3. 50
4. {2
Q.10
Ans 1. §C
2. RD
3. RE




Q.11

Ans
&1
2.
3.
a.
Q12 1p the following question, select the missing number from the given series.
10, 28, 46, 64, 2. 100
Ans 1. 8%
2. 80
3. 90
4 82
Q.13
Ans 1. 0
2. 6
37

4. §




Q.14

Ans

Q.15

Ans

IfITMISNS5505=46and 68 M 13N 650 13=286,thend0MTONS5017="7

1. 135
2. 145
3. 115
4. 150

Q.16

Ans

Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
letter cluster and the second letter cluster is related to the first letter cluster.
CAUSAL : ACUSLA :: DEBATE : EDBAET :: EFFORT : ?

1. FEOFTR
2. TROFFE
+ 3 FEFOTR
4 FFETRO




Q17 Which of the following groups of letters when sequentially placed from left to right will complete the given series?

gghhiijjggh iijjgghh _jjgghhiijjgghhiijjgg_hiijj

Ans 1. ghij
2. hihi
3. gghh
¢ 4 hiih
Q.18

Ans &1 Priya
2. Tina
3. Suresh
4. Varun

Q.19 Select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is
related to the third number-letter cluster, and the second number-letter cluster is related to the first number-letter cluster.
ELECTRON : TRONCELE :: FUNCTION : TIONCNUF :: CLUSTERS : 7

Ans 1. TERSSUCL
2. TRESSULC

+ 3. TERSSULC

4. TERSUSLC

Q.20

Ans 1.

4
2.0
3
2

Section : Part-B-General Knowledge and General awareness

Q.1

Ans 1.
2.
3.




Q.2

in Indian Dance is given in recognition of excellence and achievement in performance or research studies
in Indian Dance.

Ans o 1.
2
3.
4.
@3 Which article of the Indian Constitution comprises the fundamental duties?
Ans 1 51-A
2. 52-A
3. 53-A
4. 54-A
Q4
Ans 1. Neither I nor IT
2. Only I
3 Only II
4 BothIandII
Qs
Ans f 1.
2.
3.
4.
Q.6
Ans 1
2.
3. Tamil Nadu
4
Q7
Ans 1. 1798
2 1782
3. 1792

4. 1786




Q.8

Ans 1
2.
3.
4
Q.9
Ans 1. Neither I nor II
2. Only I
« 3 BothIandII
4. Only I
Q.10
Ans o 1.
2.
3.
4.
Q.11

Ans & 1 Kuchipudi
2. Kathak

4. Sattriva

Q.12

Ans 1 DDJ.F I

+ 2 BothIandII
3. Neither I nor IT

4. Only I
Q13 In any tennis game, any game starts at 0-0 and the zero point in tennis is called
Ans 1. origin
2. start
3. love

4. base




Q.14

Ans 1. A-1,B-3,C-2
2. A-2,B-1,C-3
3. A-1,B-2,C-3
« 4 A-2 B-3,C-1
Q.15
Ans
2.
3. Minute(min.)
4. Hour(hr.)
Q.16
Ans 1. Bihar
2.
« 3. Tharkhand
4. Assam
Q.17 How many members of the Rajya Sabha are elected indirectly and are representatives of States and Union Territories?
Ans 1..237
2. 239
3. 236
4 238
Q.18
Ans s
2.
3. Only A

4. Only B




Q.19
Ans 1.
2.
3. Ashoka
o 4.
Q.20
Ans 1..90)
2. 58.8
3. 70.8
4 T8.8
Q.1
Ans 1.

2. 15 percent
o 3.

4. 40 percent

Q.2
Ans 1.
2.
3
4.

Q.3 Manish alone can complete a work in 48 days and Pratap alone can complete the same work in half of the time taken by
Manish. In how many days will both together complete 1/4 part of the total work?

Ans 1.5 da}fS

2. 4.5 days

3. 6 days

« 4 4 days

Q4

Ans 1170
2. 165

3. 155

¥ 4 145




Q.5

Ans

1. Rs. 3450
2. Rs. 3750
3. Rs. 3220
« 4 Rs. 3310

Q.6

Ans

1. 21 years
2. 22 years
3. 19 years
o 4. 18 years

Q.7

Ans

Simple interest on a sum for 5 years is equal to 20 percent of the principal. In how many years interest will be equal to

the principal?
1. 30 vears
2. 40 vears
« 3. 25 years
4. 35 years

Q.8

Ans

A person bought an article and sold it at a loss of 20 percent. If he had bought it for 30 percent less price and sold it for
Rs.125 more, then he would earn a profit of 50 percent. What is the cost price of the article

1. Rs. 450
2. Rs. 620
+ 3. Rs. 500
4. Rs. 600

Q.9

Ans

In a class, 40 percent are boys and the number of girls are 54. What is the number of boys in the class?
1. 36
2. 34
3. 33
4. 37

Q.10

Ans

X, Y and Z are three students. X got 40 percent more marks than Y and 20 percent less marks than Z. If Y got 480
marks, then what are the marks got by Z?

« 1. 840
2. 850
3. 820
4. 800




Q.11

How many spherical balls of radius 8 cm can be made by melting a hemisphere of radius 48 cm?

Ans 1. 00
2. 116
3. 104
« 4 108
Q12 The sum of the three numbers is 123. If the ratio between the first and second is 3: 4 and that between the second and
third is 3: 5, then find the second number.
Ans 1. 46
2. 42
3. 33
4 36
Q.13
Ans 1. 187
2 191
3. 186
4. 182
Q.14
Ans 1. 12
2§
& 3.
4. 6
Q.15
Ans 1. 8§
2. 2
¢33
4. 7
Q.16
Ans 1. 7560
2. 8584
3. 5953
4. 7694
Q.17 The ratio of three numbers is 6 : 8 : 9. If the sum of the three numbers is 460, then what is the largest number among the
three numbers?
Ans 1. 160
2.120
3. 100

« 4 180




Q.18
Ans 1.3 kim/hr
2. 12 ki/hr
3. 9 km/hr
4 6 kmvhr
Q.19
Ans 1. 8 percent
« 2. 12 percent
3. 10 percent
4. 16 percent
Q.20
Ans 1. 95 minutes
2. 80 minutes
+ 3. 100 minutes
4. 110 minutes

Section : Part-D-English

Q.1
Ans 1.
2.
3. No error
& 4
Q.2
Ans o 1.

2. concisely

3. convey

4. language




Q.3

Ans o 1.
2.
3. no error
4.
Q4 Select the sentence with no spelling errors.
Ans 1.
o 2.
3.
4.
Q.5
Ans 1.
2.
o 3.
4.
Q.6 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.
Find out who is the real actor.
Ans 1. real actors
2. real acting
3. really actor
" 4. No improvement
Q.7
Ans 1. that’s
+ 2. that
3. those

4. their




Q.8

Ans 1. Q’I]le
2. Lazy
3. Boring
+ 4. Delicate
Q9 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
It’s no use worrying about the past mishaps.
Ans 1
2
3.
4,
Q.10
Ans f 1.
2. To speak a truth and lie at the same time
3.
4. To miss someone
Q.11
Ans 1. No error
2.
3.
& 4
Q.12
Ans 1. Regular
2,
3. Principle

« 4 EXftra




Q.13

Ans 1. Exclude
« 2. Integrate

3. Part
4. Separate

Q.14

Ans o 1. dD

2. lend

o
Lt

have

Q.15

Ans 1

3.

« 4. No improvement

Comprehension:

SubQuestion No : 16
Q.16

Ans 1 geldom

2. usually
3. frequently

4. often




Comprehension:

SubQuestion No : 17
Q.17

Ans 1. remote
2. foreign
3. strange

4. exclusive

Comprehension:

SubQuestion No : 18
Q.18
Ans 1. however
2. perhaps

+ 3. because
4. as

Comprehension:

SubQuestion No : 19
Q.19

Ans 1. electrician
2. doctor

3. plumber

+ 4. house-maid




Comprehension:

SubQuestion No : 20
Q.20

Ans 1. oneself

2. purselves
3. themselves
" 4 herself

AUl SAfET 9T &, R Seent # ¥, 57 BeeT F1 999 ST S Frvew F B v e F e =
FT T e T
AW F wga & () RICUE RG]
Ans 1. HE

2. HITAY

5 FH

4. 'I%'I'QF

02 Sr=fafga vew &, 91X Reedt & ¥, 37 Beew & 997 % 3 arss & v v we ¥ qoigar
e H WL FeT AT E |

T F FSF FT AT F(TSA) _ FT T a1 BT
. g

2. FeATEATT

v o qERIfE

4. Fhld

Ans

Q3 =fafEe vew F, 97 R § ¥, 30 Aeey & 907 1 3 FveF ¥ By 70 g ¥ 9g9 &9 #
Ter e T

@) feg wAer % A 3O A ¥ O JT g
Ans 0 Y
2. @
3. ofr

4-@"1’@'




Q.4

Ans

fafaRad areg ¥ Waifed 4 & [T U arde 2sg J1d Sifor|
TS off Y& T &l §1d IHd ¢ |

4 HIdMH

Q.5

Ans

faT 710 aTguie & e anefe Wse 31 S|
ST Big ST 9 8l
N A ELIG]

2, (rn—gfr[ﬁ[

SENIE
+. g

Q.6

Ans

Ffeiea uy ¥, AU U 9R fadhedl # ¥, 39 fddhed &1 99+ & ofl [§U 7T GeTaw & 37 &l a9y & 9 Had
CGI

SERICRICAGRIC |

. R HIoH s d B ol
v 2 |9 faa1 B 9IYE &R &l
% IR # TR gIf g
4 TR W H BIg A1 7 8

Q.7

Ans

[Frafeiad vy o, AU U AR feedl § 9, 39 fddhey &1 9g+ &< ol U U ggrar & o1 3l §a98 ¥ 9 oad
&l g

G & B TR IGH §gd gl
1. U BIFET 3R GER DI FHHH Bl
v 2 G & S8 {UAT HIH B!
3. ST T &1 Foll g8R Bl feear
4 GEY DI Bl A




Q.8

Ans

faw 7T aTem # § Tad ad 3id Sl
I Si1a BI A qul HishaT B

1, JZIEEF:L[UT
o 2. S

3 oifa

* gfcbal

Q.9

Ans

fau 70 aTguiY & e arfe Wse 31 B
e g1 ggeil 9 v |9

- fOdr-«=
« 2. gOgd

5. o

4. ™H

Q.10

Ans

T v s & 3 T A W, Twd w8 I g

R N R FHHN 90T & ¢ HR Ig Fgrer gr o)

1A HY g
2, ﬂg’fgrg’f;‘m‘r

3. QX I TWHT
v+ 3T FI0T TF

Q.11

Ans

farafofea a=r &, 38 Jeany &1 vgantae 5w nfea § o s e st g o R S A T
w1 T FT|

ey foes 7 S 99 Agecaqul ST/ U H I gl ¢, 98 T8 ¢ b/ HTIe! Tad Fr s A
=T 2

R
v 2 TR 9T & eFha H 9T §

5. ooy s & Y 799 Agccayor 919
LA AW AN, WAL




Q.12

Ans

T 71T I # 1T e &r 90 e AT ST

3T W 3TH &5 FIHT E ¢l
I gfEa
2 BES
3. ‘:l'lg

¢ 4 3ss

Q.13

Ans

f&T 7Y a1  Ifed uaiaarE qeg 1 99+ HRdh Rad R DI g H1 |

() 7d | D] 91 el g
o 1. 8N

2. fm

3. §:Eﬂ

4. 30H

Q.14

Ans

f&T 7T a1e H X@iferd Weg H1 fGm Wsg 31d SHIFU
ferg = SR Bl uss femi

1. W
¢ 2. IR

3. amf[

4. r_n_‘ﬂq;

Q.15

Ans

FEfRaT Uy d, IR fhedl 9 4, 39 [ddhed &1 99 3 Ol Rad 19 & [0 Jg1 Yiaardds ST aral [ddhed gl
TSl U1 5 §ReH 3l U Tl 411 g derg A 3l Bl

L dd




Q.16

Ans

Q.17

Ans

Q.18

Ans

Comprehension:

7 e =17 717 # Fo o o Rw v § ik 3w Ned we F 9w Reer Rroaw § sw awi A
¥ Fia @ FweT R wre v gfd -

T R & 7 af A" Fr GFAE R =ar § sl J @ (1) | 3T Jig & a1 o e
(2) ST @ g1 AT & a8 3ok AR (3) H ¥ @A & O AT ST Tl 5H
T (4) W TF Tgd & I (5) T TFAT § - ‘9 T AT g4

SubQuestion No : 16

Rerd 1 & forT ge@ 39 fawey &1 =a39= HIiaT|

1. 3aT
2. 3ETH
3. §ER

s

Comprehension:

A e 1w 1em 7 Fo e o3 v v § Ak 933w Red wuw & an Reew R aw 1 s At A
T Fie @1 ReeT R v #r 9fF Fem-

T SR & 7 af Aaed Fr GFAE TR Jar § s J @ (1) 1| 3T Jig & ag o 37aT
(2) ST BT g1 AT & a1g ofr 3eehr fEEr (3) H e T@gdr g difeh AT & Eh| 39
X (4) W wE Fgd & 3= (5) T AT § - ‘O T B 5

SubQuestion No : 17

g 2 &+ foT g=w 39ged fTeeT &7 Toa HIfST
1. m

< 2. yuT
3 HAR

4. STITET

Comprehension:

7 BT =77 71w F 7o e o Rr v § ik 3w od e ¥ 9w Reer Rroaw § swm e A
¥ Fia @ Fwer R v & gfd -

FTr AR & & o SEa &1 FFAT & Sar § i & (1) | 3T Hig & a1 ot 3TaT
(2) ST @ g1 AT & aie s 3eAehr AR (3) # ¥ @A & O AT & T 50
T (4) W TF Tgd & I (5) T TFAT § - 9 T BT 54

SubQuestion No : 18

Red 3 & forr ge@ 39gea fawey &1 =I3a HIiaT|
1. g7

v 2. FATH
3. Tepel
4. g




Q.19

Ans

Q.20

Ans

Comprehension:

A e =17 71w A Fo o= oF v v § it v Ned v # 9w e Ru e §) g awi A
T Fie @ Ree Rea v & 9fF Feem-

FTART F T O Fad FT FFAAF A A £ ik F A () | 3Ty Hig & a1 o 3=
(2) S T g1 AT & g ot 3 afEya (3) H ¥ AT & O AT ST T 50
T (4) W TF Tgd & I (5) T TFAT § - ‘9T T AT 54

SubQuestion No : 19

a4 & O g98 39gFd &eq &1 =3 H|
v . UATHA

A CISE]

3. ST

L

Comprehension:

A e 1w 1em 7 Fo e o3 v v § Ak 933w Red wuw & an Reew R aw 1 s At A
T Fie @ Ree R v #r 9fF Fem-

el S & o af a1 HEAE T Sar g 3K & (1) 1| 3eThr AT & &g off SeFer
(2) ST BT g1 AT & a1g ofr 3eehr fEEr (3) H e T@gdr g difeh AT & Eh| 39
T (4) W vE Fgd & 3= (5) § TWohal § - ‘O T BN 5

SubQuestion No : 20

g 5 & T §99 39geFd rereT &1 Taa fifaT)
1. ﬂ'ﬁl‘cﬁ






